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/* 0000 -1 */
#include <stdio.h>

ooooooop #define N 10 /+ 0000 x/

ogoooo oooooooog int Lsearchl ( int, int *, int ); /* 0000000 */
x!=dat [i] ooooooood int Lsearchll ( int, int *, int );
&& i<n ooooo int Lsearchl2 ( int, int *, int );
int dat[] = {2,3,4,5,1,6,8,10,7,9}; /* 0OO */

ooooooo

int main ( void )

{

int a, 1i;

#ifdef DEBUG
for ( i=0; i<N; i++ ){

printf ("$d ", dat[i] );
printf ("¥n");
gooooo ooooo #endif
ret « -1 ret i printf ("OO0000 > " );

—— —— scanf ("%d", &a ); /*
goooooo +/
i = Lsearchl ( a, dat, N );
if ( i>=0 ){

printf ("O00000000 sa OO0O000O0O0O0O%¥n", 1 );
} else {
01312 OOO0OO0OOOOO printf ("O0000000O00OO¥n");

return O0;

}

/* 000000 whileOO */

int Lsearchl ( int x, int buf[], int n )
goooooobooboooooooobooo P o ohooooo .
ooodooooooooooooooi0o0ooo /* buf: OOOOOOO */

/* n: oooooo x/
boOn0OO0O0OD0OODODODOOOOOOO {

int i = 0;

oooobooooooOoooOnoOoOOOOO

00000000000 o00ooo0oooon while ( x != bufli]l && i <n ){ /* 000000000 */

1+4;

gooond PE ( dsen ) /+ 000000000 */
Oo0000o0o0o0oOooooooooooa return ( -1 ); /* 00000 */
} else { S+ 0000000  +/

godoooo0ooooooobooo1000 return (i ); /+* 00 */

}

ooooooooo
B JO0J54-UZ b
gooooooooooboikri0b0000ooooooooooooOoOobOOOobOoOoooooooobooboooDoDoOoOoO
goooboooooooooboooobooooooboobooobooooobOooOooobOoboooobLbOoooobo
gobodoobooooooooooooboooobobooooOobobobooOoOooboOoO0bObObObOl1Obb00oboDbboOooDboo

13.1.2 JRICIRY — ZD2
00000000000000000000

Rl 2D 5178 13.1.1 DIRZFEREE%E do ~while X E /=13 for X TERT B.

W03 4L-URF
000 13.1.20 do-while0 0 0 0 O (Lsearch11) D Ofor0 00000 (Lsearch12) 0000000000000
0000000000000000000000000
dowhileD0D0OO0OO0D0i000000100000000000000D010000000000000000

262



131 0000

0001312 0O0OO0OO0OO0OO0ODOODOO

/* 0000 do-while OO */
int Lsearchll ( int x, int buf[], int n )
/* X: ooooooo x/
/* buf: 0000000 */
/* n: oooooo */
{
int 1 = -1
do { /* 000000 */
; /* 000oO0ooooog +/
} while ( x != buf[++i] && i <n ); /* 00OOO */
if ( is=n ){ /* 000000o0og */
return ( -1 ); /* 00000 */
} else { /* 0000000 */
return (1 ); /* 00 */
}
}
/* 0000 for OO */
int Lsearchl2 ( int x, int buf[], int n )
{
int i ;
for ( i=0; i<n; i++ ){ /* 0000oO0ooo */
if ( x == buf[i] ){ /* 00000o0OoOog +/
break; /* 00 */
}
}
if ( is=n ){ /* 000oO0oooog +/
return ( -1 ); /* 00ooo */
} else { /* 0000000 */
return ( i ); /* 00 */
}
}

for0000000O00O0C0OO0COO0COOOOOOO0OO0DOO0C0O00000O00O000C0O00O0O00OO0ODbreak
00000000000 OO0fr000000x!=pbuf(1]00000000000O00O0OC0OO

13.1.3 &RZELLHE
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gooooooooooooooooooobObOOObObOOooOooooboOoOOOObOOOODOoOooOobobooOoDODOOO
gboboooboooboboooobooobooooboooo
gobooooooooobooooooboobooooobobooboooobooooboOobo0oooboOobOooobOoooooon
000000000000000000D0000000000000000000000000 (sentine)D00O
gobobooooooooooboobooooooboboooobooooooobboooboboboboooobboooooon
gooogo

EiElERRc) EEZECHTERZEIZ OIS LEERTS.

W7V L
0iBiastioooooooooooooboboboooooooobowoboobobonooooooooooobo
0ooooooooooooooooooooooon

00 (@OODDD0000000000000000000000000000000000000000000
gooooooooooooooOoooooooocOoOooOoooOoOoboOO0OoOoOoOObCOoOoOoOoOoOOboOoOoOoo
gooooooooooooooooooooboooboOoooooOobobOoOoooooOoOobOoOooooOoObboOoOoo

263



0i1s30oocn

ooooon
ooooocoon

goooo
x!=dat [i]

ooooooon

000000 1 2 3 4 5 6 7 8 9 10
lo[s[1]2]el8a]7[o]3]7]
000

T gooooo0oooooobo

nem [10]5]2]2] e8] 2] 7 ]3]0
goo

t
ooooo

obw (10/5]1]2]6[8]a11[e]a]7]
t

oooooo

gooooooq
goooooo

gooooon

) gooooco
ret « 1 ret — -1
[

01313 ODOO0OO0OO0O0OO0OOOO0OO0O0

01314 ODOOOOOOOOOOOOO

0001313 ODO0O0O0OO0O00O00O0

/* 0000 -2 0000000 */
#include <stdio.h>

#define N 10

int Lsearch2 ( int, int * );

int dat[N+1]1=({2,3,4,5,1,6,8,10,7,9,0};

int main ( void )

{

int a, 1i;

#ifdef DEBUG
for ( i=0; i<N; i++ ){
printf ("$d ", datl[i] );
}
printf
#endif
printf
scanf

("¥n") ;

(r0O00oo
("%d", &a );

> ")y

*/

dat [N] = a;
Lsearch2 ( a,
if (i>=0 && i<N) {

i = dat );
*/

printf ("000000O00OO

} else {

printf

}

return 0;

(00000000 0000%¥n");

}

/* 000000
int Lsearch2 (

{

2 %/
int x, int buf[] )

int i = 0;
while (

i+4;

}

x 1= buf[i] ){

sd 00000000O¥n", 1 );

/* 0000 */
/* 0000000 */
/* 000 */
/* 000000 */

/* 0000000
/* 0000 */

/* 00 */
/+ 000000000

/* 0000000000 */

/* 0000000000 =/
/* 00 */
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